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Full-Wave Rectifier

• Basic Implementation
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Full-Wave Rectifier

• Basic Implementation

Simple Diode
Vd = 0.7v

Ideal Diode
Vd = 0.0v
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Full-Wave Rectifier

• Bridge Rectifier
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Full-Wave Rectifier

• Bridge Rectifier

Simple Diode
Vd = 0.7v

Ideal Diode
Vd = 0.0v
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Full-Wave Rectifier

• Bridge Rectifier

Simple Diode
Vd = 0.7v

Reversed biased region D1,D2
vDmax = -vSpeak / 2
→ breakdown requirement

Forward biased region D1, D2
iDmax = (vSpeak – 2vD)/R
→ current requirement
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Full-Wave Rectifier

• Comparison

Lower voltage drop – 1 vD

Fewer active components – 2 diodes
More complex transformer - $$

transformer - $16
diodes - $0.10

Higher voltage drop – 2 vD

More active components – 4 diodes
Less complex transformer - $

transformer - $10
diodes - $0.20 ✓
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Full-Wave Rectifier

• Real world


